

تاریخ ۱۳

۱۲ اسیر

-۱

$$g(h), f(\overbrace{h \cos n}^{h \cos n} + \sqrt{r} \cos n) \text{ و } f(h \cos n) \text{ و } f(h \cos n)$$

$$\Rightarrow g'(h) \cdot (f \circ h)'(h) = h'(h) f'(h) = (\overbrace{h \cos n + \sqrt{r} \cos n}^{h \cos n})' f'(\underbrace{h \cos n}_{h \cos n})$$

$$\rightarrow g'(\frac{\pi}{2}) = (\overbrace{h \cos n + \sqrt{r} \cos n}^{h \cos n})' f'(\underbrace{h \cos n}_{h \cos n})$$

$$\Rightarrow g'(\frac{\pi}{2}) = (r \cos n) (1 + \cos n) - \sqrt{r} \sin n \Rightarrow f'(r) = \sqrt{r}$$

$$\rightarrow g'(\frac{\pi}{2}) \cdot \sqrt{r} = (r \cos n - 1) \cdot f'(r) \Rightarrow f'(r) = \frac{\sqrt{r}}{r}$$

$$f'(r) = \frac{(r + \cos n)(r + \cos n - r \cos n)}{(r - \cos n)(r + \cos n)} = \frac{r + \cos n - r \cos n}{r - \cos n}$$

-۵

$$g'(h) = \frac{r}{r - \cos n} \Rightarrow r g'(h) = \frac{r}{r - \cos n}$$

$$\Rightarrow f'(h) - r g'(h) = \frac{r + \cos n - r \cos n}{r - \cos n} - \frac{r}{r - \cos n} = \frac{\cos n (\cos n - 1)}{r - \cos n}$$

$$= -\cos n \Rightarrow (f(h) - r g(h))' f'(h) - r g'(h) = \sin n$$

$$\Rightarrow f'(\frac{\sqrt{r}}{2}) - r g'(\frac{\sqrt{r}}{2}) = \sin \frac{\sqrt{r}}{2} = -\frac{1}{r}$$

$$f'_+(\frac{r}{2}) = \lim_{h \rightarrow \frac{r}{2}^+} \frac{1 \sin r / \sqrt{r} - 0}{h - \frac{r}{2}} = \frac{(\sin r / \sqrt{r})}{h - \frac{r}{2}} = \sqrt{\frac{r}{2}} a$$

-۷

$$f'_-(\frac{r}{2}) = \lim_{h \rightarrow \frac{r}{2}^-} \frac{1 \sin r / \sqrt{r} \cdot -1}{h - \frac{r}{2}} = \frac{-(\sin r / \sqrt{r})}{h - \frac{r}{2}} = -\sqrt{\frac{r}{2}} a$$

$$\Rightarrow \sqrt{\frac{\epsilon}{\epsilon_0}} a - (-\sqrt{\frac{\epsilon}{\epsilon_0}} a) / \epsilon \quad \sqrt{\frac{\epsilon}{\epsilon_0}} a \quad \sqrt{\epsilon} \Rightarrow \sqrt{\epsilon} \frac{\epsilon}{\epsilon_0} a = \epsilon \sqrt{\epsilon} a$$

$$\Rightarrow a \sqrt{\frac{\epsilon}{\epsilon_0}} \frac{\epsilon}{\epsilon_0} \sqrt{\epsilon} = \frac{1}{\epsilon}$$

$$y = a n + \epsilon \quad \begin{matrix} \nearrow \quad \quad \quad \rightarrow y = f(\epsilon) = \epsilon a + \epsilon \\ \searrow \quad \quad \quad \rightarrow f'(\epsilon) = a \end{matrix} \quad - \epsilon$$

$$f(\epsilon) + f'(\epsilon) = \epsilon a + \epsilon - a = \epsilon a + \epsilon - 1 \Rightarrow a = \frac{\epsilon}{\delta} \Rightarrow f'(\epsilon) = a = \frac{\epsilon}{\delta}$$

$$\forall y = \lambda \delta \Rightarrow y = \frac{1}{\lambda} n + \frac{\delta}{\lambda} \quad - \delta$$

چون ہمیں اس بات میں ہمارے متعلقہ نتائج سے اضافہ ملے گا
(\Delta s)

$$\frac{a n - 1}{\epsilon n + 1} = \frac{1}{\lambda} n + \frac{\delta}{\lambda} \Rightarrow \frac{\epsilon}{\lambda} n^2 + \frac{1\delta}{\lambda} n + \frac{\delta}{\lambda} = a n - 1$$

$$\Rightarrow \frac{\epsilon}{\lambda} n^2 + (\frac{1\delta}{\lambda} - a) n + \frac{\delta}{\lambda} = 0 \Rightarrow \epsilon n^2 + (1\delta - a\lambda) n + 1\delta = 0$$

$$\Rightarrow \Delta s = 0 \Rightarrow (1\delta - a\lambda)^2 - 4\epsilon(1\delta) = 0 \Rightarrow (1\delta - a\lambda)^2 = 4\epsilon(1\delta)$$

$$\Rightarrow 1\delta - a\lambda = \pm 2\sqrt{\epsilon(1\delta)} \Rightarrow a = \frac{\epsilon}{\lambda} \Rightarrow \epsilon n^2 + 1\delta n + 1\delta = 0 \Rightarrow \lambda = \frac{\epsilon}{a}$$

$$\left| 1\delta - a\lambda = -2\sqrt{\epsilon(1\delta)} \Rightarrow a = \frac{\epsilon}{\lambda} \Rightarrow \epsilon n^2 - 1\delta n + 1\delta = 0 \Rightarrow n = \frac{1\delta \pm \sqrt{1\delta^2 - 4\epsilon(1\delta)}}{2\epsilon} \right|$$

$$\Rightarrow a = \left[\text{نتیجہ} \right]$$

$$\textcircled{1} f(\epsilon) = f'(\epsilon) = \epsilon \quad \text{سے } \epsilon \text{ کے متعلقہ نتائج سے}$$

$$\textcircled{1} f(\epsilon) = \epsilon n^2 + a n - b \Rightarrow \lambda = a - b \quad \left\{ \begin{array}{l} \lambda = \epsilon - b \\ \rightarrow b = 1\delta \\ \rightarrow b a = 1\delta - (1\delta) = -\epsilon \end{array} \right.$$

$$\textcircled{2} f'(\epsilon) = \epsilon n^2 + a \Rightarrow \lambda = a \Rightarrow a = 1\epsilon$$

$$f(n) \sin^n(n\pi) \rightarrow f'(n) \sin^{n-1}(n\pi) \cos(n\pi) \cdot \pi$$

-V

$$\lim_{n \rightarrow \infty} \frac{f(n) f'(n)}{(1 - \cos n)^m} = \frac{\sin^n(n\pi) \times h \sin^{n-1}(n\pi) \times \cos(n\pi) \times \pi}{(1 - \cos n)^m}$$

$$\frac{\sqrt{2}/\pi}{\lim_{n \rightarrow \infty} \frac{n^{\pi h} \times h n^{\pi h - 1} \times (1 - \frac{n\pi}{2}) \times \pi}{\frac{n^{\pi m}}{\pi^m}}} = \frac{h \pi \times \pi^{\pi h - 1} \times (1 - \frac{\pi}{2}) \times \pi \sqrt{2}}{n^{\pi h}}$$

$$\Rightarrow \left\{ \begin{array}{l} \lim_{n \rightarrow \infty} \frac{n^{\pi h - 1} \times \pi^{\pi h - 1} \times (1 - \frac{\pi}{2})}{n^{\pi h}} \times \frac{\pi^{m+1} \times h}{1} = \pi^{\pi h + \frac{1}{\pi}} \times h \times \pi \sqrt{2} \\ \Rightarrow h \times \pi \rightarrow m \times \frac{1}{\pi} \end{array} \right.$$

$$\Rightarrow h \times \pi \rightarrow m \times \frac{1}{\pi}$$

$$\Rightarrow \pi m, h, \pi, \frac{1}{\pi}, 9$$

$$y = \frac{\sqrt{x+1}}{\sqrt{x-1}} \Rightarrow \sqrt{x} \times \frac{y+1}{y-1} \Rightarrow x = \left(\frac{y+1}{y-1} \right)^2$$

-A

$$\Rightarrow f^{-1}\left(\frac{x+1}{x-1}\right) \Rightarrow [f^{-1}]' \times \pi \left(\frac{x+1}{x-1} \right) \times \left(\frac{-1}{x-1} \right)^2$$

$$\Rightarrow \left\{ [f^{-1}]', \pi \times \pi \times -1 \times -1 \right\}$$

-9

$$\frac{f(a) - f(b)}{a - b} = \frac{1(-a+1) - 1}{-1 - 0} = 1a - 1 \times -1 = a - 1$$

$$f(x) = (x^{1/2} + 1)^{-1} \left(-\frac{1}{2} x^{-1/2} \right) \Rightarrow f'(x) = \pi \left(\frac{1}{2} \right) \times \pi \left(-\frac{1}{2} x^{-1/2} \right) + \left(-\frac{1}{2} \right) (x^{1/2})^{-1} \\ = \pi \left(\frac{1}{2} \right) \times \pi \left(\frac{1}{2} \right) + \left(-\frac{1}{2} \right) (1) \\ = 1 \times 1 + \left(-\frac{1}{2} \right) = \frac{1}{2}$$

$$\lim_{z \rightarrow \infty} \frac{f(a) - f(b)}{a - b} \Rightarrow y = \sinh z \cosh z \rightarrow \lim_{z \rightarrow \infty} = \frac{\sinh \frac{\pi}{2} \cosh \frac{\pi}{2} - \sinh \frac{\pi}{2} \cosh \frac{\pi}{2}}{\frac{\pi}{2} - \frac{\pi}{2}}$$

$$\left[\frac{0 - (-1)}{-\frac{\pi}{2}} \right] \left[\frac{\pi}{2} \right] \underbrace{- \cosh z} \quad \underbrace{1}$$

$$y = \sinh z - \cosh z = (\sinh z - \cosh z)(\cosh z + \sinh z) = -\cosh z$$

$$\lim_{z \rightarrow \infty} \frac{-\cosh \frac{\pi}{2} - (-\cosh \pi)}{\frac{\pi}{2} - \frac{\pi}{2}} = \frac{0 - (-1)}{-\frac{\pi}{2}} \left[\frac{\pi}{2} \right] \text{ II}$$

$$\text{I, II} \Rightarrow \left[\frac{-\frac{\pi}{2}}{\frac{\pi}{2}} \right] \left[\frac{\pi}{2} \right]$$